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(A) BB= kB HAT00KN/ niE#BZ BRIEDBED 1 DB KEKN/ i) (E) HIEE A IMERZ DR IEDHEFHED 1 DBAE®KN/ i) 2 THXERARUZEBNICSHIREEZHT S Ll AATG
-~ meaA 2 ERNIE m == mz ke A = ERNIE m & 3 3 - — | LE‘ #mr — [ I
(B) (WL HHEN( AT HBEDLEFOBEm) (F) ©F LEREN AT SBE 0 LES D BE(m) %iwwf’;fégﬁﬁf’t‘ﬂﬁé%éf_ﬁ@f‘ﬁ& Fr7E it TR L HRETASAF
(C) BBEN= &5 155 100kN/mi LI R D R DI E D A D BAMEKN/m) (G) HHE A 3mEL T DRI D 11D B AN/ ) EMBEEHEEHZRLEFEBHEHICHAMT
D) CONLZEEY VAT IEEDLTRENSE(M) H) QN LHEEY AT IBEDLREDEE(M) DEGHENCEETAHENTED,
METHREIUTHOLTEEDHDAZE SIESHBAD T EZDHDKES
RNES % =
(A) (B) (©) (D) (E) (F) @) (H) (A) (B) ©) (D) (E) (F) (G) (H)
(1) 145.4 1.0 99.9 1.0 - - 15.2 3.0 1454 1.0 96.8 1.0 - - 15.2 3.0
(2) 136.8 1.0 99.6 1.0 - - 14.2 2.8 136.8 1.0 96.9 1.0 - - 14.2 2.8
( 3) 146.8 1.0 99.2 1.0 15.3 3.0 15.0 3.0 146.8 1.0 96.9 1.0 15.3 3.0 14.1 2.8
( 4) 136.6 1.0 99.3 1.0 - - 15.1 3.0 136.6 1.0 97.7 1.0 - - 15.1 3.0
(5) 1334 1.0 994 1.0 155 3.1 15.2 3.0 133.4 1.0 97.7 1.0 15.5 3.1 15.1 3.0
(6 ) 140.7 1.0 99.8 1.0 - - 13.9 2.7 140.7 1.0 96.9 1.0 - - 13.9 2.7
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